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QUANTITATIVE APTITUDE
Q.1 How many circles can be

drawn that pass(es) through

two fixed points?/,sls fdrus o`Ùk
•haps tk ldrs gSa tks nks fuf'pr fcanqvksa
ls xqtjrs gSa\
(1) Infinite/vuar
(2) Only two/dsoy nks
(3) One or two/,d ;k nks
(4) Only one/dsoy ,d

Q.2 If x is the mean proportional
between 12.8 and 64.8, then

the value of x is:/;fn 12.8 vkSj
64.8 ds chp eè;kuqikrh x gS] rks x
dk eku gS%
(1) 32 (2) 34
(3) 28.8 (4) 26.4

Q.3 If cot A = 15/8, then what will

be the value of tan 2 A?/;fn
cot A = 15/8 gks] rks tan 2 A dk
eku D;k gksxk\
(1) 200/161 (2) 240/161
(3) 240/173 (4) 220/171

Q.4 The table given below shows
the number of persons
participating in a survey from

6 different states./uhps nh xbZ
rkfydk 6 vyx&vyx jkT;ksa ls ,d
loZs{k.k esa Hkkx ysus okys O;fÙkQ;ksa dh
la[;k n'kkZrh gSA

States Persons
J 200

K 300

L 500

M 600

N 700

P 900

Number of persons
participating in the survey
from L is what percent of the
number of persons participating

in the survey from J? /L ls loZs{k.k
esa Hkkx ysus okys O;fÙkQ;ksa dh la[;k] J
ls loZs{k.k esa Hkkx ysus okys O;fÙkQ;ksa dh
la[;k dk fdruk çfr'kr gS\

(1) 200 % (2) 250%
(3) 80% (4) 40 %

Q.5 The table given below shows the
temperature recorded every day

in a certain week./uhps nh xbZ rkfydk
,d fuf'pr lIrkg esa gj fnu fjdkWMZ fd,
x, rkieku dks n'kkZrh gSA

Days Temperature
Monday 20º

Tuesday 45º

Wednesday 30º

Thursday 50º

Friday 25º

Saturday 55º

Sunday 60º

What is the difference between
the temperature recorded on
Monday and Tuesday together
and the temperature recorded
on Friday and Saturday
together?/lkseokj vkSj eaxyokj dks
,dlkFk ntZ fd, x, rkieku vkSj 'kqØokj
vkSj 'kfuokj dks ,d lkFk ntZ fd, x,
rkieku ds chp fdruk varj gS\
(1) 25% (2) 20 %
(3) 15% (4) 10%

Q.6 350 + 926 + 2718 + 928 + 929 is
divisible by which of the
following integers?/350 + 926

+ 2718 + 928 + 929 fuEufyf•r esa ls
fdl iw.kkZad ls foHkkT; gS\
(1) 11 (2) 5
(3) 7 (4) 2

Q.7 A car with a price of `6,50,000
is bought by making some
down payment. On the balance,
a simple interest of 10% is
charged in lump sum and the
money is to be paid in 20 equal
annual instalments of  `
25,000. How much is the down
payment?/`6,50,000 dh dher
okyh dkj dqN Mkmu isesaV djds •jhnh
tkrh gSA 'ks"k jkf'k ij] 10% dk lkèkkj.k
C;kt ,deq'r fy;k tkrk gS vkSj /u
dk Hkqxrku ` 25,000 dh 20 leku
okf"kZd fdLrksa esa fd;k tkuk gSA rRdky
fdruk Hkqxrku djuk gS\
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(1) `1,55, 945 (2) ` 1,95, 455
(3) `1,94, 555 (4) `1,45, 955

Q.8 A shopkeeper has 2220 kg of
rice. A part of which he sells
at a 20% profit and the rest at
a 12% profit. He gains 18% on
the whole. The quantity (in kg)
sold at a 12% profit is:/,d
nqdkunkj ds ikl 2220  fdxzk pkoy
gSA ftldk ,d Hkkx og 20» ykHk ij
vkSj 'ks"k 12% ykHk ij csprk gSA mls
iwjs ij 18% dk ykHk gksrk gSA 12%

ykHk ij csph xbZ ek=kk (fdxzk esa) gS
(1) 555 (2) 1210
(3) 1665 (4) 425

Q.9 Choose the correct statement
from the following./fuEufyf•r
esa ls lgh dFku dk p;u dhft,A
(1) HCF is the least common

multiple of the given
numbers./e-l-i- nh xbZ la[;kvksa
dk y?kqÙke lekioR;Z gSA

(2) HCF of two or more
numbers is the highest
number which perfectly
divides all the given
numbers./nks ;k nks ls vf/d
la[;kvksa dk e-l-i og lcls cM+h
la[;k gS tks nh xbZ lHkh la[;kvksa
dks iw.kZr% foHkkftr djrh gSA

(3) HCF is also called the least
common divisor./e-l-i- dks
y?kqÙke lekiorZd Hkh dgk tkrk gSA

(4) In prime factorisation
method of HCF, the
multiples of all the given
numbers are listed./e-l-i- dh
vHkkT; xq.ku•aM fof/ esa] lHkh nh xbZ
la[;kvksa ds xq.kt lwphc¼ gksrs gSaA

Q.10 The pie chart given below
shows the production of 6
different factories. The total
production of all these 6
factories is 12000. The
production of a particular
factory is shown as a percent
of total production of all these
6 factories.
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uhps fn;k x;k ikbZ pkVZ 6 vyx&vyx
dkj•kuksa ds mRiknu dks n'kkZrk gSA bu
lHkh 6 dkj•kuksa dk dqy mRiknu 12000
gSA ,d fo'ks"k dkj•kus dk mRiknu bu
lHkh 6 dkj•kuksa ds dqy mRiknu ds
çfr'kr ds :i esa fn•k;k x;k gSA

R
30%

S
13%

T
20%

U
10%

P
12%

Q
15%

J1 = The value of average

production of P and R./J1 =

P vkSj R ds vkSlr mRiknu dk ewY;A
J2 = The value of average
production of Q and T./J2 =

Q vkSj T ds vkSlr mRiknu dk ewY;A
What is the value of (J1 -

J2)?/(J1 - J2) dk eku D;k gS\
(1) 360 (2) 420
(3) 340 (4) 400

Q.11 If 1
a b

b a
   and a + b = 2,

then the value of a3 + b3 is:/

;fn 1
a b

b a
    vkSj a + b = 2] rks

a3 + b3 dk eku gS%
(1) 0 (2) 3
(3) 1 (4) 2

Q.12 If 3 coconuts are offered free
on purchase of 12 coconuts,
priced `25 each, what is the
effective discount on each

coconut?./;fn 12 ukfj;y dh •jhn
ij 3 ukfj;y eqÝr fn, tkrs gSa] çR;sd
ukfj;y dh dher `25  gS] rks çR;sd
ukfj;y ij çHkkoh NwV fdruh gS\
(1) 20% (2) 24%
(3) 20.83% (4) 15%

Q.13 The population of country A
decreased by p% and the
population of country B
decreased by q% from the year
2020 to 2021. Here 'p' is greater
than 'q'. Let 'x' be the ratio of
the population of country A to
the population of country B in
the given year. What is the
percentage decrease in 'x' from

2020 to 2021?/o"kZ 2020 ls 2021

rd ns'k A dh tula[;k esa  p% dh
deh gqbZ vkSj ns'k  B dh tula[;k esa
q% dh deh vkbZA ;gk¡ 'p'] 'q' ls vf/
d gSA eku yhft, 'x' fn, x, o"kZ esa ns'k
A dh tula[;k dk ns'k B dh tula[;k
ls vuqikr gSA 2020 ls 2021 rd 'x' esa
çfr'kr deh fdruh gS\

(1)
 

 
100

100

p q

q



 (2)
 100

100 P

p q



(3)
 100

100 P

p q


(4)

 100

100 q

p q



Q.14 A chord of length 40 cm is
drawn in a circle having
diameter 50 cm. What is the
minimum distance of other
parallel chord of length 30 cm
in the same circle from 40 cm

long chord?/50 lseh O;kl okys ,d
òÙk esa 40 lseh yackbZ dh ,d thok
•haph tkrh gSA 40 lseh yach thok ls
mlh òÙk esa 30 lseh yackbZ dh vU;
lekukarj thok dh U;wure nwjh D;k gS\
(1) 10 cm/lseh (2) 15 cm/lseh
(3) 5 cm/lseh (4) 20 cm/lseh

Q.15 If 4x2 + y2 = 40 and xy = 6,
find the positive value of 2x +

y./;fn 4x2 + y2 = 40 vkSj xy = 6

gS] rks 2x + y dk /ukRed eku Kkr
dhft,A
(1) 8 (2) 6
(3) 5 (4) 4

Q.16 Piyush sold a guitar to Anuj
at 16% gain and Anuj sold it
to Mayank at 32% gain. If
Mayank paid `3,828 for the
guitar, what amount did

Piyush pay for the same?/ih;w"k
us ,d fxVkj vuqt dks 16% ykHk ij
cspk vkSj vuqt us bls e;ad dks 32%

ykHk ij cspkA ;fn e;ad us fxVkj ds
fy, `3,828 dk Hkqxrku fd;k] rks
ih;w"k us blds fy, fdruh jkf'k dk
Hkqxrku fd;k\
(1) ` 2,500 (2) ` 3,200
(3) ` 1,600 (4) ` 2,800

Q.17 The external diameter of an
iron pipe is 20 cm and its
length is 12cm. If the
thickness of the pipe is 1cm,
find the surface area of the

pipe (take 
22

7
  ) correct to

two places of decimal./yksgs ds

ikbi dk ckgjh O;kl 20 lseh gS vkSj
bldh yackbZ 12 lseh gSA ;fn ikbi dh
eksVkbZ 1 lseh gS] rks ikbi dk i`"Bh;
{ks=kiQy n'keyo ds nks LFkkuksa rd lgh

(take 
22

7
  ) Kkr dhft,A

(1) 1,662.67 cm2/lseh2

(2) 1,552.57cm2/lseh2

(3) 1,442.48cm2/lseh2

(4) 1,772.76 cm2/lseh2
Q.18 A group of men decided to do

a job in 6 days, but 18 men
dropped out every day. If the
job was completed in 8 days,
then how many men initially

decided to do the job./iq#"kksa ds
,d lewg us 6 fnuksa esa ,d dke djus
dk iQSlyk fd;k] ysfdu gj fnu 18
iq#"kksa us dke NksM+ fn;kA ;fn dk;Z 8
fnuksa esa iwjk fd;k tkrk gS] rks çkjaHk esa
fdrus iq#"kksa us dk;Z djus dk fu.kZ;
fy;kA
(1) 300 (2) 252
(3) 188 (4) 150

Q.19 What is the value of

cos37

sin53




?/

cos37

sin53




dk D;k eku gS

(1)
1

2
(2)

1

2
(3) 0 (4) 1

Q.20 What is the value of

17
cos

3

 
 
 

/
17

cos
3

 
 
 

 dk

D;k eku gS

(1) 1 (2)
3

2

(3)
1

2
(4) 0

Q.21 A dog saw a cat at a distance
of 280 m. The cat started
running at the speed of 10
km/hr and the dog also ran
to catch it with the speed of
24 km/hr. How much time
will the dog take to catch the

cat?/,d dqÙks us ,d fcYyh dks 280
ehVj dh nwjh ij ns•kA fcYyh 10
fdeh@?kaVk dh xfr ls nkSM+us yxh vkSj
dqÙkk Hkh 24 fdeh@?kaVk dh xfr ls mls
idM+us ds fy, nkSM+kA dqÙkk fcYyh dks
idM+us esa fdruk le; ysxk \
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(1) 1.4 min (2) 1.5 min
(3) 1.2 min (4) 1.3 min

Q.22 A tangent is drawn from a
point M to a circle, which
meets the circle at T such that
MT = 12 cm. A secant MAB
intersects the circle at points
A and B. If MA = 8 cm, then
what is the length (in cm) of

the chord AB?/,d fcanq M ls
,d o`Ùk ij ,d Li'kZ js•k •haph tkrh
gS] tks o`Ùk dks T ij bl çdkj feyrh
gS fd MT = 12 lseh- ,d Nsnd js•k
MAB o`Ùk dks fcanq A vkSj B ij
dkVrh gSA ;fn MA = 8 lseh gS] rks
thok AB dh yackbZ (lseh esa) D;k gS\
(1) 16 (2) 10
(3) 12 (4) 9

Q.23 If p = 7 4 3 , then what is

the value of
6 4 2

3

1p p p

p

  
?/;fn p =

7 4 3  rks 
6 4 2

3

1p p p

p

  
 dk

eku D;k gS \
(1) 2617 (2) 2167
(3) 2716 (4) 2176

Q.24 The height of an equilateral

triangle is 7 3 cm. What is

the area of this equilateral

triangle?/,d leckgq f=kHkqt dh
ÅapkbZ 7 3 lseh gSA bl leckgq f=kHkqt
dk {ks=kiQy D;k gS\

(1) 36 3 cm2/lseh2

(2) 25 3 cm2/lseh2

(3) 49 3 cm2/lseh2

(4) 32 3 cm2/lseh2

Q.25 The pie chart given below
shows the number of boys in
8 schools. The total number
of boys in all these 8 school
is 12000. Number of boys in
a particular school is shown
as a percent of total number
of boys in all these 8 schools./

uhps fn;k x;k ikbZ pkVZ 8 Ldwyksa esa
yM+dksa dh la[;k n'kkZrk gSA bu lHkh 8
Ldwyksa esa yM+dksa dh dqy la[;k 12000

gSA ,d fo'ks"k Ldwy esa yM+dksa dh
la[;k bu lHkh 8 Ldwyksa esa yM+dksa dh
dqy la[;k ds çfr'kr ds :i esa n'kkZbZ
xbZ gSA

S1
31%

S2
7%

S3
2%

S4
23%

S5
6%

S6
11%

S7
5%

S8
15%

The average number of boys
in S1 and S2 is what percent
of the average number of boys

in S6 and S8?/S1 vkSj S2 esa
yM+dksa dh vkSlr la[;k] S6 vkSj S8

esa yM+dksa dh vkSlr la[;k dk fdruk
çfr'kr gS\
(1) 133.33 percent/izfr'kr
(2) 192.24 percent/izfr'kr
(3) 172.26 percent/izfr'kr
(4) 146.15 percent/izfr'kr

GENERAL AWARENESS
Q.1 Baishakhi, the famous

festival of Sikhs, is celebrated
in which month every year?/

flD•ksa dk çfl¼ R;ksgkj cS'kk•h çfro"kZ
fdl ekg esa euk;k tkrk gS\
(1) April/vçSy
(2) February/iQjojh
(3) January/tuojh
(4) March/ekpZ

Q.2 Chola inscriptions mention
several categories of land,
which of the following land
was known as gifted to

temples?/pksy vfHkys•ksa esa Hkwfe dh
dbZ Jsf.k;ksa dk mYys• feyrk gS] fuEu
esa ls dkSu lh Hkwfe eafnjksa dks migkj esa
nh xbZ Hkwfe ds :i esa tkuh tkrh Fkh\
(1) Devadana/nsonkuk
(2) Shalabhoga/'kyHkksx
(3) Pallichchhandam/iYyhNane
(4) Brahmadeya/czãns;

Q.3 Who was sworn in as the Central
Vigilance Commissioner (CVC)
by President Droupadi Murmu

in August 2022?/vxLr 2022 esa
jk"Vªifr ækSinh eqeZw }kjk dsaæh; lrdZrk
vk;qÙkQ (CVC) ds :i esa fdls 'kiFk
fnykbZ xbZ\
(1) Rajiv Gauba/jktho xkSck
(2) Ranjit Rath/jathr jFk
(3) Pramod Kumar/çeksn dqekj

(4) Suresh N. Patel/lqjs'k ,u iVsy
Q.4 The appointments committee

of cabinet (ACC) extended the
tenure of current Research
and Analysis Wing (RAW)
chief for another year, till
June 30, 2023 Who is the

current chief?/dSfcusV dh fu;qfÙkQ
lfefr (ACC) us orZeku vuqla/ku vkSj
fo'ys"k.k foax (RAW) ds çeq• dk
dk;Zdky ,d vkSj o"kZ ds fy, 30 twu]
2023 rd c<+k fn;k orZeku çeq• dkSu gS\
(1) Mukul Rohatgi/eqdqy jksgrxh
(2) Anil Chauhan/vfuy pkSgku
(3) Samant Kumar Goel/lkear

dqekj xks;y
(4) Sunil Barthwal/lquhy cFkZoky

Q.5 How many times did India
organise the Commonwealth

Games?/Hkkjr us fdruh ckj jk"VªeaMy
•syksa dk vk;kstu fd;k\
(1) Once/X;kjg
(2) Twice/nks ckj
(3) Thrice/rhu ckj
(4) Never/dHkh ugha

Q.6 Identify a dark-coloured
amorphous substance that is
highly resistant to microbial
action and undergoes
decomposition at an extremely

slow rate./,d xgjs jax ds vukdkj
inkFkZ dh igpku djsa tks ekbØksfc;y
fØ;k ds fy, vR;f/d çfrjksèkh gS vkSj
vR;ar /heh xfr ls vi?kVu ls xqtjrk gSA
(1) Chitin/fpfVu
(2) Humus/áwel
(3) Carotenoids/dSjksVsukW;M~l
(4) Colloids/dksykWbM~l

Q.7 How many Indian states
shares its border with

Bangladesh?/fdrus Hkkjrh; jkT;
ckaXykns'k ds lkFk viuh lhek lk>k
djrs gSa\
(1) Three/rhu (2) Four/pkj
(3) Six/N% (4) Five/ik¡p

Q.8 Established in 1867 at Bombay,
the ______ sought to remove
caste restrictions, abolish child
marriage, and encourage the

education of women, etc./ckWEcs
esa 1867 esa LFkkfir] ______ us tkfr
çfrca/ksa dks gVkus] cky fookg dks lekIr
djus vkSj efgykvksa dh f'k{kk dks
çksRlkfgr djus vkfn dh ekax dhA
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(1) Veda Samaj/osn lekt
(2) Arya Samaj/vk;Z lekt
(3) Prarthana Samaj/çkFk Zu k

lekt
(4) Satyashodhak Samaj/

lR;'kksèkd lekt
Q.9 A Hindu festival celebrated by

the Tamil community that
falls in the Tamil Solar Month

is called?/rfey leqnk; }kjk euk;k
tkus okyk ,d fganw R;ksgkj tks rfey
lkSj ekg esa iM+rk gS] dgykrk gS\
(1) Karaga/djxk
(2) Bihu/fcgw
(3) Onam/vks.ke
(4) Thaipusam/FkkbZiqle

Q.10 Goods and services tax (GST)
became operational from

______./eky vkSj lsok dj (GST)

____ls pkyw gks x;kA
(1) 1 July 2017
(2) 1 May 2016
(3) 1 April 2016
(4) 1 April 2017

Q.11 Which of the following was
known as an organisation of
merchants in the inscriptions

of the Pallavas?/iYyok s a ds
f'kykys•ksa esa fuEufyf•r esa ls fdls
O;kikfj;ksa ds laxBu ds :i esa tkuk
tkrk Fkk\
(1) Nagaram/ukxje
(2) Sangathana/la?kVu
(3) Ur/mj
(4) Sabha/lHkk

Q.12 Sundaram Balachander has
been the main player of which
of the following musical

instruments?/lqanje ckykpanj
fuEufyf•r esa ls fdl ok| ;a=k ds
eq[; oknd jgs gSa\
(1) Mridangam/eǹaxe
(2) Bansuri/ckalqjh
(3) Veena/oh.kk
(4) Santoor/larwj

Q.13 As of 10 April 2022, who
among the following is the
Chief Minister of

Puducherry?/10 vçSy 2022 rd]
fuEufyf•r esa ls dkSu iqMqpsjh dk
eq[;ea=kh gS\

(1) N Rangasamy/,u jaxklkeh
(2) RV Janakiraman/vkjoh

tkudhjeu
(3) V Vaithilingam/oh oSfFkfyaxe
(4) P Shanmugam/ih 'kueqxe

Q.14 What is the average height of

troposphere?/{kksHkeaMy dh vkSlr
ÅapkbZ fdruh gksrh gS\
(1) 20 km (2) 13 km

(3) 24 km (4) 8 km

Q.15 pH of milk of magnesia is __./

eSXuhf'k;k ds nw/ dk ih,p ___ gSA
(1) 12 (2) 8

(3) 10 (4) 14

Q.16 The real executive power is
vested in the Council of
Ministers with the ______ as its

head./okLrfod dk;Zdkjh 'kfÙkQ
eaf=kifj"kn esa _____ ds çeq• ds :i esa
fufgr gSA
(1) Prime Minister/ç/ku ea=kh
(2) Speaker of Rajya Sabha/

jkT; lHkk ds vè;{k
(3) Vice President/mikè;{k
(4) President/jk"Vªifr

Q.17 Which singer was given the
Padma Shri in 2022 under the

Arts category?/fdl xk;d dks 2022
esa dyk oxZ ds rgr iÁJh çnku fd;k
x;k\
(1) Kumar Sanu/dqekj 'kkuw
(2) Udit Narayan/mfnr ukjk;.k
(3) Abhijeet Bhattacharya/

vfHkthr Hkêðkpk;Z
(4) Sonu Nigam/lksuw fuxe

Q.18 What is the numerical value

of a physical quantity?/fdlh
HkkSfrd jkf'k dk la[;kRed eku D;k
gksrk gS\
(1) Reference/lanHkZ
(2) Direction/fn'kk
(3) Distance/nwjh
(4) Magnitude/ifjek.k

Q.19 In March 2022, Tripura
government announced
_______ reservation for women

in government jobs./ekpZ 2022
esa] f=kiqjk ljdkj us ljdkjh ukSdfj;ksa esa
efgykvksa ds fy, _____ vkj{k.k dh
?kks"k.kk dhA

(1) 20 percent (2) 27 percent
(3) 10 percent (4) 33 percent

Q.20 In 1840, the Paramhans
Mandali was established to
work for the abolition of ‘Caste’

at ______./1840 esa] ijegal eaMyh
dh LFkkiuk ____esa ^tkfr* ds mUewyu
ds fy, dke djus ds fy, dh xbZ FkhA
(1) Lahore/ykgkSj
(2) Calcutta/dksydkrk
(3) Surat/lwjr
(4) Bombay/eqacbZ

Q.21 In football, when the ball
strikes the frame of the goal
or the referee and remains
within the goal and touch

lines, it is:/iQqVckWy esa] tc xsan xksy
ds Úse ;k jsiQjh ls Vdjkrh gS vkSj xksy
vkSj Vp ykbu ds Hkhrj jgrh gS] rks ;g gS%
(1) Foul/csbZekuh
(2) Still in play/vHkh Hkh •sy esa
(3) A misconduct/,d nqjkpkj
(4) Out of play/•sy ls ckgj

Q.22 The Indian Institute of remote
sensing was established at:/

Hkkjrh; lqnwj laosnu laLFkku dh LFkkiuk
dh xbZ Fkh%
(1) Khadakwasla/•Mdoklyk
(2) Shimla/f'keyk
(3) Dehradun/nsgjknwu
(4) Kochi/dksfPp

Q.23 'Modernisation’ as a goal of
planning in context of the
Indian economy was NOT

aimed at:/Hkkjrh; vFkZO;oLFkk ds
lanHkZ esa fu;kstu ds y{; ds :i esa
^vkèkqfudhdj.k* dk y{; ugha Fkk%
(1) Adopting a Western

lifestyle/if'peh thou 'kSyh
viukuk

(2) Change in social outlook/

lkekftd n`f"Vdks.k esa ifjorZu
(3) Increase in production of

goods and services/oLrqvksa
vkSj lsokvksa ds mRiknu esa òf¼

(4) Use of new technology/ubZ
rduhd dk mi;ksx

Q.24 In 1664, who discovered the fifth
star in the Trapezium, an
asterism (miniconstellation) in

the constellation Orion?/1664 esa]
Vªsisft;e esa ik¡posa rkjs dh •kst fdlus
dh Fkh] tks u{k=k vksfj;u esa ,d rkjkeaMy
(y?kq u{k=k) gS\
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(1) George Willis Ritchey/tkWtZ
fofyl fjph

(2) Giordano Bruno/ft;ksMkZuks
cwzuks

(3) Johannes Kepler/tksgkUl dsIyj
(4) Robert Hooke/ jkWcVZ gqd

Q.25 Match column A with column

B./LrEHk v dk LrEHk c ls feyku
dhft,A

Column-A Column-B

  LrEHk&d    LrEHk&c
i. Kwashiorkor/a.Iodine

Dokf'kvksjdksj deficiency/

vk;ksMhu dh
deh

ii. Weak bones b. Iron

vk;ju dh deh deficiency/
and muscles/

detksj gfîó;ka
vkSj ekalisf'k;ka

iii. Anaemia/ c. Calcium

,uhfe;k deficiency/

dSfY'k;e dh deh
iv. Goitre/xksbVj d. Protein

deficiency/

çksVhu dh deh
(1) i-c, ii-b, iii-d, iv-a
(2) i-b, ii-a, iii-c, iv-d
(3) i-d, ii-c, iii-b, iv-a
(4) i-b, ii-c, iii-a, iv-d

Q.1 If  X × Y means that X is the
father of Y,
X ÷ Y means that X is the
mother of Y,
X - Y means that X is the
brother of Y then which of the
following expression shows

that A is the father of C?/;fn
X × Y dk vFkZ gS fd X] Y dk firk
gS] X ÷ Y dk vFkZ gS fd X] Y dh
ekrk gS] X – Y dk vFkZ gS fd X] Y
dk HkkbZ gS rks fuEufyf•r esa ls dkSu lk
O;atd n'kkZrk gS fd A] C dk firk gS\
1. A - B × C 2. A × C - B
3. A × B ÷ C 4. A × B - C

Q.2 Select the correct mirror
image of the given figure when
the mirror is placed at AB as

shown./nh xbZ vkÑfr dh lgh niZ.k
Nfo dk p;u djsa tc niZ.k dks AB

ij j•k x;k gS tSlk fd fn•k;k x;k gSA

1.

2.

3.

4.

Q.3 Select the option that is related
to the third word in the same
way as the second word is
related to the first word. (The
words must be considered as
meaningful English words and
must not be related to each
other based on the number of
letters/number of consonants/

vowels in the word.)/ml fodYi
dk p;u djsa tks rhljs 'kCn ls mlh
çdkj lacaf/r gS tSls nwljk 'kCn igys
'kCn ls lacaf/r gSA ('kCnksa dks lkFkZd
vaxzsth 'kCn ekuk tkuk pkfg, vkSj 'kCn
esa v{kjksa dh la[;k@O;atuksa@Lojksa dh la[;k
ds vk/kj ij ,d nwljs ls lacaf/r ugha
gksuk pkfg,A)
Octagon : Eight :: Heptagon : ?

1. Ten 2. Six

3. Nine 4. Seven

Q.4 Select the set in which the
numbers are related in the
same way as are the numbers

of the following set./ml lsV dk

p;u djsa ftlesa la[;k,¡ mlh rjg ls
lacaf/r gSa tSls fuEufyf•r lsV dh
la[;k,¡ gSaA
(NOTE: Operations should be
performed on the whole
numbers, without breaking
down the numbers into its

constituent digits.)/(u k s V %
lafØ;k,a iw.kZ la[;kvksa ij dh tkuh pkfg,]
la[;kvksa dks muds ?kVd vadksa esa foHkkftr
fd, fcukA)
(2, 125, 3)

(1, 64, 3)

1. (2, 100, 8) 2. (5, 512, 3)

3. (12, 50, 13)4. (4, 341, 3)

Q.5 Select the option that is
related to the fourth term in
the same way as the first term
is related to the second term
and the fifth term is related

to the sixth term./ml fodYi dk
p;u djsa tks pkSFks in ls mlh çdkj
lacaf/r gS tSls igyk in nwljs in ls
lacaf/r gS vkSj ikapoka in NBs in ls
lacaf/r gSA
10 : 45 :: ? : 28 :: 11 : 55

1. 9 2. 8

3. 12 4. 10

Q.6 By interchanging the given
two signs which of the
following equation will be

correct?/fn, x, nks fpUgksa dks vkil
esa cnyus ij fuEufyf•r esa ls dkSu lk
lehdj.k lgh gksxk\
+ and ÷

1. 9 × 18 + 27 ÷ 36 - 30 = 18

2. 9 + 3 × 2 - 8 ÷ 1 = -1

3. 16 + 8 × 2 ÷ 6 - 9 = 10

4. 16 + 2 × 6 ÷ 3 - 7 = 50

Q.7 Study the given pattern
carefully and select the
number that can replace the

question mark (?) in it./fn, x,
iSVuZ dk è;kuiwoZd vè;;u djsa vkSj
ml la[;k dk p;u djsa tks blesa ç'u
fpÉ (\) dks çfrLFkkfir dj ldsA
First row: 243, 162, 9

Second row: 108, 72, 6

Third row: 48, ?, 4

(NOTE: Operations should be
performed on the whole
numbers, without breaking
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down the numbers into its
constituent digits. E.g. 13 -
Operations on 13 such as
adding / subtracting /
multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then
performing mathematical
operations on 1 and 3 is not

allowed)/(uksV% la[;kvksa dks muds
?kVd vadksa esa foHkkftr fd, fcuk] iw.kZ
la[;kvksa ij lapkyu fd;k tkuk pkfg,A
mnkgj.k ds fy, 13 & 13 ij lapkyu
tSls 13 dks tksM+uk @ ?kVkuk @ xq.kk
djuk vkfn fd;k tk ldrk gSA 13 dks
1 vkSj 3 esa rksM+uk vkSj fiQj 1 vkSj 3
ij xf.krh; lafØ;k,¡ djus dh vuqefr
ugha gS)
1. 12 2. 21

3. 32 4. 23

Q.8 In the following question, four
number pairs are given. In
each pair the number on left
side of (-) is related to the
number of the right side of (-)
with some Logic/Rule/
Relation. Three pairs are
similar on basis of same
Logic/Rule/Relation. Select
the odd one out from the given

alternatives./fuEufyf•r ç'u esa
pkj la[;k ;qXe fn, x, gSaA çR;sd tksM+h
esa (&) ds ckbZa vksj dh la[;k (&) ds
n k b Z a  v k s j  dh l a [; k l s  d qN
rdZ@fu;e@laca/ ds lkFk lacaf/r gSA leku
rdZ@fu;e@laca/ ds vk/kj ij rhu tksM+s
leku gSaA fn, x, fodYiksa esa ls fo"ke
dks pqfu,A
(NOTE: Operations should be
performed on the whole
numbers, without breaking
down the numbers into its
constituent digits. E.g.13 -
Operations on 13 such as
adding /subtracting /
multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then
performing mathematical
operations on 1 and 3 is not

allowed)/(uksV% la[;kvksa dks muds
?kVd vadksa esa foHkkftr fd, fcuk] iw.kZ
la[;kvksa ij lapkyu fd;k tkuk pkfg,A
mnkgj.k ds fy, 13 & 13 ij lapkyu
tSls 13 dks tksM+uk @ ?kVkuk @ xq.kk

djuk vkfn fd;k tk ldrk gSA 13 dks
1 vkSj 3 esa rksM+uk vkSj fiQj 1 vkSj 3
ij xf.krh; lafØ;k,¡ djus dh vuqefr
ugha gS)
1. 8 - 60 2. 6 - 33

3. 12 - 141 4. 10 - 97

Q.9 Which two numbers, form
amongst the given options,
should be interchanged to
make the given equation

correct ?/fn, x, lehdj.k dks lgh
djus ds fy, fn, x, fodYiksa esa ls
fdu nks la[;kvksa dks vkil esa cnyuk
pkfg,\

14 + 39 –  144 4 + (5 × 3)

– 6 = 63

1. 14 and 6 2. 5 and 39

3. 4 and 3 4. 4 and 6

Q.10 Select the figure from among
the given options that can
replace the question mark (?)

in the following series./fn, x,
fodYiksa esa ls ml vkÑfr dk p;u djsa
tks fuEufyf•r J̀a•yk esa ç'u fpÉ
(\) dks çfrLFkkfir dj ldrh gSA

d

1.

2.

3.

4.

Q.11 Three of the following letter-
clusters are alike in some
manner and hence form a
group. Which letter-cluster
does not belong to that

group?/fuEufyf•r es a ls rhu
v{kj&lewg fdlh rjg leku gSa vkSj

blfy, ,d lewg cukrs gSaA dkSu lk
v{kj&lewg ml lewg ls lacaf/r ugha gS\
1. MNG 2. STM

3. ABU 4. HED

Q.12 In a certain code language,
'NULLIFY' is written as
'MFOLRUB' and 'SKYWALK' is
written as 'HPBWZOP'. How
will 'FLAGGER' be written in

that language?/,d fuf'pr dwV
H k k " k k  e s a ]  'NULLIFY' d k s
'MFOLRUB' vkSj 'SKYWALK' dks
'HPBWZOP' fy•k tkrk gSA ml Hkk"kk
esa 'FLAGGER' dSls fy•k tk,xk\
1. VOZGTVI 2. UOZHTVI

3. UOZGTVI 4. UOZITVL

Q.13 Which of the following
numbers will replace the
question mark (?) in the given

series?/fuEufyf•r esa ls dkSu lh
la[;k nh xbZ J̀a•yk esa ç'u fpÉ (\)
dks çfrLFkkfir djsxh\
121, 169, 289, ?, 529, 841

1. 484 2. 361

3. 343 4. 441

Q.14 Select the option that is related
to the third word in the same
way as the second word is
related to the first word. (The
words must be considered as
meaningful English words and
must not be related to each
other based on the number of
letters/number of consonants/

vowels in the word.)/ml fodYi
dk p;u djsa tks rhljs 'kCn ls mlh
çdkj lacaf/r gS tSls nwljk 'kCn igys
'kCn ls lacaf/r gSA ('kCnksa dks lkFkZd
vaxzsth 'kCn ekuk tkuk pkfg, vkSj 'kCn
esa v{kjksa dh la[;k@O;atuksa@Lojksa dh la[;k
ds vk/kj ij ,d nwljs ls lacaf/r ugha
gksuk pkfg,A)
Dog : Bitch :: Stallion : ?

1. Doe 2. Mare

3. Goose 4. Vixen

Q.15 Two position of the same
cubical block are shown.
When '6' is at the top, which
number will be at the bottom

?/,d gh ?kukdkj CykWd dh nks fLFkfr;k¡
fn•kbZ xbZ gSaA tc '6' lcls Åij gks]
rks lcls uhps dkSu&lh la[;k gksxh\
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2

5
4

1

3
4

1. 4 2. 2

3. 3 4. 5

Q.16 Select the option frigure
which is embedded in the
given figure as its part

(rotation is not allowed)./ml
fodYi fÚt dk p;u djsa tks fn, x,
fp=k esa blds Hkkx ds :i esa lfUufgr gS
(jksVs'ku dh vuqefr ugha gS)A

1. 2. 

3. 4.

Q.17 Select the figure from among
the given option that can
replace the question mark (?)

in the following series./fn, x,
fodYiksa esa ls ml vkÑfr dk p;u djsa
tks fuEufyf•r J̀a•yk esa ç'u fpÉ
(\) dks çfrLFkkfir dj ldrh gSA

A B

CD

B D

FH

C F

IL

D H

LP ?

1.

J E

OT

2.

E J

OT

3.

O J

EJ

4.

J E

TO

Q.18 Three statements are given
followed by three conclusions
numbered I, II and III.
Assuming the statements to be

true, even if they seem to be at
variance with commonly
known facts, decide which of
the conclusions logically follow

(s) from the statements./rhu
dFku vkSj mlds ckn rhu fu"d"kZ I] II
vkSj III fn, x, gSaA dFkuksa dks lR;
ekurs gq,] Hkys gh os lkekU; :i ls
Kkr rF;ksa ls fHkUu çrhr gksrs gksa] fu.kZ;
djsa fd dkSu lk fu"d"kZ rkfdZd :i ls
dFkuksa dk vuqlj.k djrk gSA
Statements:/dFku
I. Some mice are keyboards.

/dqN pwgs dhcksMZ gSa-A
II. All keyboards are CPU./

lHkh dhcksMZ lhih;w gSaA
III. All mice are webcams./lHkh

pwgs oscdSe gSaA
Conclusions:/fu"d"kZ
I. Some CPUs are mice./dqN

lhih;w pwgs gSaA
II. Some webcams are

keyboards. /dqN oscdSe dhcksMZ
gSaA

III. Some webcams are

CPUs./dqN oscdSe lhih;w gSaA
1. All conclusions follow./lHkh

fu"d"kZ vuqlj.k djrs gSaA
2. Only conclusions I and II

follow./dsoy fu"d"kZ I vkSj II
vuqlj.k djrs gSaA

3. Only conclusions II and III

follow./dsoy fu"d"kZ II vkSj III
vuqlj.k djrs gSaA

4. Only conclusions I and III

follow./dsoy fu"d"kZ I vkSj III
vuqlj.k djrs gSaA

Q.19 After interchanging the given
two numbers and two signs
what will be the values of
equation (I ) and (II)

respectively? /nh xbZ nks la[;kvksa
vkSj nks fpÉksa dks vkil esa cnyus ij
Øe'k% lehdj.k (I) vkSj (II) dk eku
D;k gksxk\
× and -, 4 and 5
I. 9 ÷ 3 × 6 + 5 - 4
II. 5 - 4 × 3 + 6 ÷ 2
1. 17, 20 2. 8, 6
3. 16, 20 4. 20, 17

Q.20 Select the option that
represents the correct order
of the given words as they
would appear in an English

dictionary./ml fodYi dk p;u

djsa tks fn, x, 'kCnksa ds lgh Øe dk
çfrfuf/Ro djrk gS tSls os vaxzsth
'kCndks'k esa fn•kbZ nsaxsA
1. Miscellaneous

2. Miscalculate

3. Mischance

4. Miscall

5. Miscasting

1. 2, 4, 1, 5, 3

2. 2, 4, 5, 1, 3

3. 4, 2, 5, 3, 1

4. 4, 2, 5, 1, 3

Q.21 A - B means 'A is the mother
of B'

A % B means 'A is the brother
of B'

A $ B means 'A is the sister of
B'

A @ B means 'A is the son of
B'

If  L @ M - N $ O % P, then
how is L related to P?

A - B dk vFkZ gS 'A] B dh ekrk gSA
A % B dk vFkZ gS 'A] B dk HkkbZ gSA
A $ B dk vFkZ gS 'A] B dh cgu gSA
A @ B dk vFkZ gS 'A] B dk iq=k gSA
;fn L @ M - N $ O % P, rks L] P
ls fdl çdkj lacaf/r gS\
1. Brother-in-law/thtk
2. Father/firk
3. Son/iq=k
4. Brother/HkkbZ

Q.22 Which letter-cluster will
replace the question mark (?)
to complete the given series?/

nh xbZ Ja•yk dks iwjk djus ds fy,
ç'uokpd fpUg (\) ds LFkku ij dkSu
lk v{kj&lewg vk,xk\
MDSA, KERC, ?, GGPG, EHOI

1. IFQE 2. IFQG

3. IEQF 4. IQFE

Q.23 In a certain code language,
BELOVED is coded as 65, and
FLOWER is coded as 79. How
will QUIVER be coded in that

language?/,d fuf'pr dwV Hkk"kk
esa] BELOVED dks 65 ds :i esa
dwfVr fd;k tkrk gS] vkSj FLOWER

dks 79 ds :i esa dwVc¼ fd;k tkrk gSA
ml Hkk"kk esa QUIVER dks dSls dwVc¼
fd;k tk,xk\
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 1.  92 2.  94

 3.  91 4.  90

Q.24 In the following question
below are given some
statements followed by some
conclusions based on those
statements. Taking the given
statements to be true even if
they seem to be at variance
from commonly known facts.
Read all the conclusions and
then decide which of the given
conclusion logically follows

the given statements./uhps fn,
x, ç'u esa dqN dFku fn, x, gSa vkSj
mu dFkuksa ds vk/kj ij dqN fu"d"kZ
fn, x, gSaA fn, x, dFkuksa dks lR;
ekuuk ??Hkys gh os loZKkr rF;ksa ls
fHkUu çrhr gksrs gksaA lHkh fu"d"kks± dks
i<+sa vkSj fiQj r; djsa fd fn, x,
fu"d"kks± esa ls dkSu lk fu"d"kZ rkfdZd
:i ls fn, x, dFkuksa dk vuqlj.k
djrk gSA

Statements:/dFku
I. All Q are M./lHkh Q, M gSA

II. All O are M./lHkh O, M gSA
Conclusion:/fu"d"kZ
I. Some O are not Q./dqN O,

Q ugha gSA
II. All M are Q./lHkh M, Q gSA
1. Both conclusions I and II

follows./fu"d"kZ I vkSj II nksuksa
vuqlj.k djrs gSaA

2. Only conclusion II follows.

/dsoy fu"d"kZ II vuqlj.k djrk
gSA

3. Only conclusion I follows./

dsoy fu"d"kZ I vuqlj.k djrk gSA
4. Neither conclusion follows.

/dksbZ Hkh fu"d"kZ vuqlj.k ugha djrk
gSA

Q.25 A series is given with one term
missing. Select the correct
alternative from the given
ones that will complete the

series./,d vuqØe fn;k x;k gS ftlesa
,d in yqIr gSA fn, x, fodYiksa esa ls
og lgh fodYi pqfu, tks J̀a•yk dks
iwjk djs
NDRF, NZJT, NVBH, NRTV, ?

1. NJRM 2. NTQC

3. NNLJ 4. NIRQ

Q.1 Select the most appropriate
option that can substitute
the underlined segment in
the given sentence. If there
is no need to substitute it,
select ‘No substitution
required’.

The soldiers had no choice to
report the loss to their
commander.

(1) no choice as to

(2) no choice how to

(3) No substitution required

(4) no choice but to

Q.2 Identify the most
appropriate ANTONYM of
the underlined word in the
given sentence.

The game continued due to
heavy rainfall after the pitch
became completely wet.

(1) ongoing

(2) played

(3) stopped

(4) disregarded

Q.3 Select the most appropriate
meaning of the given idiom.

On the ball

(1) To be alert

(2) Doing a bad job

(3) Doing an average job

(4) To be lazy

Q.4 Select the most appropriate
collocating word to fill in
the blank.

Great people are always ready
to________ responsibilities.
(1) kindle (2) secure
(3) shoulder (4) burden

Q.5 Select the most appropriate
ANTONYM of the word
‘IMMORAL’ from the given
sentence.
The city of Hamburg and its
surrounding region have
generally decent health, with
no pandemic illnesses having
lately developed to any
significant degree.
(1) Degree (2) Decent
(3) Illness (4) Region

Q.6 In the given sentence the
underlined word may have
been incorrectly spelt.
Identify the option that
rectifies the spelling. If
there is no error in spelling,
select ‘No error’.
The Education Ministry
believes that after the
reopening of the schools, it
will take some time to regain
the equiliebrium.
(1) equilibreum
(2) equelibrium
(3) No error
(4) equilibrium

Q.7 Select the sentence with the
appropriate use of
preposition.
(1) By means of rope ladders

they scaled the wall.
(2) Along with means of rope

ladders they scaled the
wall.

(3) in means of rope ladders
they scaled the wall.

(4) Of means of rope ladders
they scaled the wall.

Q.8 Sentences of a paragraph
are given below in jumbled
order. Arrange the
sentences in the correct
order to form a meaningful
and coherent paragraph.

A. Such problems include
difficulty in implementing
decisions, providing social
security to everyone and
ensuring employment.

B. This is because almost all
countries face problems
related to their population.

C. The most crucial aspect of
the problem is population
pressure.

D. The population explosion
is an important issue
these days.

(1) CDAB (2) DBCA

(3) DBAC (4) ABCD

Q.9 Select the correct indirect
form of the given sentence.

Radha said, “Why didn’t he
forward his petition to me?”

(1) Radha enquired why he
had not forwarded his
petition to her.
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(2) Radha enquired why he
has not forwarded his
petition to her.

(3) Radha enquired why had
he not forwarded his
petition to her.

(4) Radha enquired why he
had not forward his
petition to her.

Q.10 Rearrange the parts of the
sentence in correct order.

Electrolytes like

P. important for balancing
the water in your body

Q. are present in the body’s
fluids and are

R. are electrically charged
minerals that

S. sodium, potassium,
chloride and magnesium

(1) PQSR (2) SPRQ

(3) SQRP (4) SRQP

Q.11 Select the option that can be
used as a one-word
substitute for the underlined
words in the given sentence.

Today my dad will teach me
how to make a small shelter
for my dog.

(1) kennel (2) canal

(3) burrow (4) shed

Q.12 Select the most appropriate
ANTONYM of the given
word.

Harmony

(1) Hostility (2) Congruity

(3) Consent (4) Concord

Q.13 Select the most appropriate
option to complete the
given sentence.

His brother _______ his
________ and gave him a
watch after his result.

(1) took, word

(2) broke, record

(3) lost, temper

(4) kept, promise

Q.14 Select the correct active
form of the given sentence.

The dog was terrified by the
unexpected noise.

(1) The unexpected noise had
terrified the dog.

(2) The unexpected noise
terrified the dog.

(3) The unexpected noise has
terrified the dog.

(4) The unexpected noise
terrifies the dog.

Q.15 Select the option that can
be used as a one-word
substitute for the given
group of words.

Existing in a land from the
earliest times or from before
the arrival of colonists

(1) Native (2) Ancient

(3) Aboriginal (4) Original

Q.16 Select the correct active
form of the given sentence.

This trail is not frequently
visited by hikers.

(1) Hikers not have frequently
visit this trail.

(2) Hikers does not frequently
visit this trail.

(3) Hikers do not visit this
trail frequently.

(4) Hikers did not frequently
visit this trail.

Q.17 Select the INCORRECTLY
spelt word.

(1) Athlete (2) Practically

(3) Benefitted (4) Antartic

Q.18 Select the most appropriate
synonym of the underlined
word in the given sentence.

The essayist’s sole intention
was to baffle his readers.

(1) Puzzle (2) Influence

(3) Scold (4) Annoy

Q.19 The following sentence has
been divided into parts. One
of them may contain an
error.

Select the part that contains
the error from the given
options. If you don’t find any
error, mark ‘No error’ as your
answer.

He always / aimed highly /
in life.

(1) No error

(2) in life

(3) aimed highly

(4) He always

Q.20 Select the most appropriate
meaning of the underlined
idiom.

When the war breaks out, all
the war mongering social
media activists become yellow
bellies.

(1) Zealots

(2) Cowards

(3) Sceptics

(4) Upset stomachs

Comprehension: In the following
passage, some words have been
deleted. Read the passage carefully
and select the most appropriate
option to fill in each blank.

India is one of the largest producers
of tea in the world. The industry is
(1)________ recognised as
technically very well (2) ________.
The Indian tea industry is a (3)
________ one traditionally. Tea has
been used in India for (4) ________
purposes as well as for (5) ________.

Q.21 Select the most appropriate
option to fill in blank
number 1.

(1) globally

(2) tediously

(3) industrially

(4) mutually
Q.22 Select the most appropriate

option to fill in blank
number 2.
(1) complex (2) establish
(3) pampered (4) equipped

Q.23 Select the most appropriate
option to fill in blank
number 3.
(1) flourish
(2) condensing
(3) flourishing
(4) thrashing

Q.24 Select the most appropriate
option to fill in blank
number 4.
(1) sick
(2) immune
(3) medicinal
(4) immunology

Q.25 Select the most appropriate
option to fill in blank
number 5.
(1) fulfillment
(2) advantage
(3) consumption
(4) retention


